    

Instructor Comments:

Unit 3 IP: The assignment is a hypothesis test for a single population mean of a quantitative variable equal to a given number (Chapter 8). This is to be done twice. Test the hypothesis that the population mean of the intrinsic is equal to 5 or not. then separately test the hypothesis that the population mean of the extrinsic is equal to 5 or not. Use all 25 data rows for each! Since n<30, use a t statistic! For this and any hypothesis test, I want you to number the five steps as in the book. Please provide the following summary table.
	 
	Intrinsic
	Extrinsic

	Null and Alternative Hypotheses
	H0: μ = 5
H1: μ ≠5
	H0: μ = 5
H1: μ ≠5

	Significance Level
Degrees of freedom
Critical Value
	α=0.05
df=
tcrit=
	α=0.05
df=
tcrit=

	Sample mean and
Standard deviation
Test Value
	xbar=
s=
t=
	xbar=
s=
t=

	Decision
	 
	 


